Extra practice IVT
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« PROBLEM 7 : Use the Intermediate Value Theorem to prove that the equation x* + 2 = sinx is solvable.
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= PROBLEM 8 : Use the Intermediate Value Theorem to prove that the equation x? — 4x* + 1 = x — 7 is solvable.
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— 1 is solvable.

» PROBLEM 9 : Use the Intermediate Value Theorem to prove that the equation xe*
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« PROBLEM 10 : Use the Intermediate Value Theorem to prove that the equation x cos x = 4 is solvable.
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« PROBLEM 11 : Use the Intermediate Value Theorem to prove that the equation =x?+5 is solvable.
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o PROBLEM 12 : Use the Intermediate Value Theorem to prove that the equation is solvable.
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« PROBLEM 13 : Use the Intermediate Value Theorem to prove that the equation tanx = 1 — x is solvable.
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« PROBLEM 14 : Use the Intermediate Value Theorem to prove that the equation x* = 2x2 + 3x — 3 has three solutions.
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« PROBLEM 15 : Use the Intermediate Value Theorem to prove the following statement: If  is a continuous function on the interval [0, 1] with £(0) > 0 and f(1) < 1, then there is some number c in the
interval [0, 1] which satisfies f(c) = c. (In mathematics this number ¢ is called a fixed point for f.)
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« PROBLEM 16 : Use the Intermediate Value Theorem to prove the following statement: If f is a continuous function on the interval [0, 2] with £(0) > 0 and f(2) < 4, then there is some number c in the
interval [0, 2) which satisfies f(c) = c.
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» PROBLEM 1 : Use the Intermediate Value Theorem to prove that the equation 3x” — 4x? = 3 is solvable on the interval [0, 2].
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o PROBLEM 2 : Use the Intermediate Value Theorem to prove that the equation e¥ = 4 — x° is solvable on the interval [-2, -1].
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» PROBLEM 3 : Use the Intermediate Value Theorem to prove that the equation x* + 2x — 5 = 0 is solvable.
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« PROBLEM 4 : Use the Intermediate Value Theorem to prove that the equation e* + x + 2 = 0 is solvable.
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« PROBLEM 5 : Use the Intermediate Value Theorem to prove that the equation x° — 3x = 4 — x? is solvable.
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« PROBLEM 6 : Use the Intermediate Value Theorem to prove that the equation x* = 20 + y& is solvable.




